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Christmas Addition

Solve the following word problems.

Santa Claus has 2500 red candies and 3500 green
candies. How many candies does Santa Claus have
in total?

Santa Claus has 3000 red gifts and 2000 green
gifts. How many gifts does Santa Claus have in
total?

In a Christmas party, 3500 people wore red hats
and 2500 people wore green hats. How many
people attended the Christmas party?

In a Christmas tree, there are 4000 red lights and
2000 green lights. How many lights are there on
the Christmas tree?

In a Christmas parade, there are 3000 people in
red costumes and 4000 people in green costumes.
How many people are there in the parade?

Santa Claus has 3500 red socks and 1500 green
socks. How many socks does Santa Claus have in
total?

In a Christmas market, there are 4000 red
ornaments and 3000 green ornaments. How many
ornaments are there in the market?

8 In a Christmas concert, 2500 people sang red
songs and 3500 people sang green songs. How

ﬂany people sang in the concert?
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